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Cell performance of Ag coated cathode

Cell performace (V)

0.90 -25
= Uncoated cathode
o 0.8wt% Ag coated cathode
0.85 4 204 s 3wt% Ag coated cathode Sample Rohmic (Qcmz) Rct(Qsz) Rmt(QcmZ)
N \A/A\A‘A\AiA\A‘A—A—A
oiofooofo\o,o‘o,o_oioioo Uncoated cathode 0.44 0.82 0.93
0.80 .~-/I/'\-7-'I\.f.\_\_ ~ 154
e T——po— é 0.8wt % Ag coated cathode 0.33 0.69 0.95
0.75 —0—0.8wt% Ag coated cathode N -
A7 30 Ag coated cathode £ 3wt % Ag coated cathode 0.33 0.56 0.97
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Effect of temperature in Ag coated cathode and Cu coated cathode vl 5 £ 3w coated cathode
A 3wt% Cu coated Cathode
Temperature Uncoated cathode 3wt% Ag-coated 3wt% Cu-coated ~ 254 "
NE o
(°C) (V) Cathode (V) Cathode (V) 8 %7 .
550 057 065 068 fisg o o,
580 0.72 0.76 0.77 o 10- 2 .
600 0.76 0.80 0.80 051 : 2
620 0.80 0.83 0.84 0.0 : : : : :
540 560 580 600 620 640 660

650 0.84 0.86 0.86 Temperature (°C)
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